
F Felt  ×2
(Remarks: 2 pcs for backup use only)

bench

BENCHEEI-2571 
BENCH

Legs

E

Bolt M6×45mm            ×4

  Seat Frame     ×1 X-     ×2 Side  Rail        ×2

Bolt M6×35mm            ×4

Spring Washer M8       ×4

Flat Washer M8           ×4

and then follow the simple step-by-step

f reach of children.



EEI-2571 BENCH

D
C
A

E

A C DE

 A×2 C×2             D×2

 A×2 C×2             D×2

STEP1:

Repeat the same steps for another X-Leg (2). 
Do not fully tighten Bolts (A) for another X-Leg (2).

Insert 1 piece of X-Leg (2) with 2 pieces of Bolt (A), 2 pieces of Spring Washer (C), and 2 pieces 
of Flat Washer (D) into the bottom of Seat Frame (1) as shown.
Do not fully tighten Bolts (A) for X-Leg (2).

E×1

E×1

STEP2:



E

EEI-2571 BENCH

 B×4             

B

3

1

2

E×1

STEP3: Insert 1 piece of Side Rail (3) into the X-Legs (2) as shown.
Attach by 2 pieces of Bolt (B) as shown. Repeat the same steps for another Side Rail (3). 
Do not fully tighten Bolts (B) for Side Rail (3).

STEP4: Carefully turn over the chair and adjust balance of the chair.

     Assembly is complete. 
The bench is ready to use now!

Please put a heavy object or seat one adult on top of the Seat Frame (1) to pressure the chair for 
leveling.

Fully tighten all Bolts with Allen Wrench (E).

E


	页 1
	页 2
	页 3



